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Instructions to Candidates / Gieadiat: 2jaen

(1) There are 50 questions in the Test Booklet. | (1) al uayRasidi s& 50 U+l 8. Uds nansil

The answer of each question is any one AR GUR A, B, C 271 D L4 S s 8.
out of A, B, C and D. Four alternatives waeiol 1 o A sed wunal 2udal
are given with the question. You have to | . dud oHL o Wadell G Buatdl 8.

aEEweRgll e Guassicns- @) Heds A AR G W2 1(As) A B,

(2)  Each correct answer carries (1)one mark. Qs st Oy, Pioed 45 5202 ¥R WA
For each i for each .
qﬁésiifn v\:,riﬁn%:l ‘:ﬂéﬁfdaﬁzwjﬁm‘,’; e?;o Al 2ua ., w2l wael Wi S1sS J8L suid
negative marking for wrong answer. :Ql L. 3 P

(3)  You have to answer on the OMR Sheef is 3) TR AL Hle 2R Bdragl (OMR
given separately to you. For example : SHEET) 0l 8.

Which State of India has the longest Séa | Gur A Getsel WA 2l 8.
Coast ? SlRa s34 wo Wl aiel sRa-B-
(A) Maharashtra (B) Tamil Nadu qud 8 ?

(C) Gujarat (D) Andra Pradesh (A) 8l (B) diarug

In OMR Answer Sheet : (C) A%Ud (D) iy

) @ o Gura¥l (OMR SHEET)Ai
The true answer is "C". Hence circle of @ ’ @

"C" is blackened (encode). Bulsd s el G "C B, el "C
(4)  Don't write anything on the Test Booklet. q_(ial 519 (encode) 53¢ .

g‘lll]‘“g :ISP"“;CS f“kthe OMRPA“S’?"?’ ) Grraglii Gu aledll [ siofl ml-l
Smfﬁs{ prghi%tit:; Ink, pen or Xencngs ollavl 2 Aetell Mrualeti 8. 211 wel,

(6) During exam from candidate, if any false 3 Afardl Gl 53 QE& 1 4L
matter, guide, cheats, slips, any handwritten ) udla anu? @Q;gqm well A6 uel lsey,
material, any printed material, mobile phone, uss, HlOiE.[QL!;, stuell, wldl, Ay
pager, calculator or any electronic g.kt@t["ld Bi2s wfscy, Rouda f’lﬂ:
equipments are found he/she will be U, desydan 3w dlong (31{329.& slaly
o2udl ol GAeAIRA AeUAS AR 1A

disqualified.

(7) Gossips, making noise or disobeying | (7) g Ul st g2 AYA 4],
instructions given by Invigilator will be w52 ¥ Flasdl yuld Geden
considered disobedience. 2q d A[rd U,

(8) Do Rough Work on last page. () Wt Beal Uy WR 59,

Guadl (OMR Answer sheet) & waxi 8. yflau ydl aui tue Gvradl (OMR Answer Sheet)-l nax
B{lat ud (Scaning Copy) 4l Mlasa yad sal sus o aslvis slsaiil 282 da sl 532 2l Rirdela-i

ot oell ydlan 1 % A GearA Aerus Raai »iad. ofw Gz ud (Candidate Copy) GRsaR 18
as oS wsd. uAURASL 21 ol ud GAedR il 22 af oS usd.
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1 The word 'Education' is derived from which language?

(A) Greek (B) Latin
(C) English (D) None of these
'Education’ a6& $§ eudL uell Gddl auedl 87
A) Als B) dal+
(C) »i3dw (D) 2 Y4 AS dl
2 "The process that brings out the infinite in the child is action" - who said?
(A) Gandbhiji (B) Brown
(C) Froebel (D) Aristotle
Copasei 2dFEAA sleold 52 4 B ANed masl” - SR s&?
(A) e (B) aub+
(C) &8 (D) RRee

3 According to John Dewey - How many polar processes is education?

(A) Three (B) Four

(©) Two (D) None of these
ol S dd-3aarll dzan gl uBu 87

(A) =8t B) A

(C) & (D) 2 U4 AS «dl

4 What does mean the word - Philos?

(A) Knowledge (B) Wisdom

(C) Love . (D) All of these
Philos - a6e~il 2 g wa 87

(A) - (B) 3818l

(C) A (D) 2u U4 o %

5 Divinationis the science of prediction.

(A) The statement is true -(B) Nothing can be said
(C) The statement is false (D) None of these
cilrmedq 2 woUEl YUS WReL B

(A) R w3y S (B) 39 sl sy «dl
(C) R v 8 (D) 2 W4 a5 «dl
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6 What is the speciality of naturism education?
(A) Freedom of the child
(B) Freedom of the child and the gates of sense knowledge
(C) Gate of sense knowledge
(D) None of these
uglacue Rand @Avda g 87
(A) oinsl Adtdl
(B) suasl @daidl A SRAL sl R
(C) Skl aun-i g2
(D) U W AF «dl

7 According to realism, human beings attain enlightenment through direct

experience.
(A) Locke (B) Sartre
(C) Gandhiji (D) None of these
qaiddie WAL 1 AU HAd qeld gL A 8.
(A) dls (B) sl
(C) ouidlew (D) 21 U4 A adl
8 According to Humanism, what is the nature of disipline?
(A) Rigorous (B) Free discipline
(C) Self-restraint C (D) Self-restraint and free education
Hrddiale AR Ridd a3u 39 87
(A) s8R (B) 3s5d Rirda
(C) ucdA (D) UHAIY 2 Ysalfuaw

9 What are the characteristics of modern Indian society?

(A) Caste system (B) Caste system and joint family
(C) Joint family (D) None of these

M elrdla -l aelisdl s 897

(A)  sulavan (B) su-tMyl e AYysd gdol

(C) RAysd g2o (D) 2u 44 A adl

10 Not a work of educational sociology.
(A) Study of Social Movements
(B) Study of social context of education
(C) Social change
(D) All of these
AaBs AR, 12 Al
(A)  Arulrs yaanmi-l »2eA
(B) Rawi-l Arlrs Aseldl seq
(C) aulys uRad+
(D) »u U4 quL o
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11 What is the program for national unity?
(A) Organization of educational tour
(B) Organization of educational tour and Conducting All religion prayer
(C) Conducting All religin prayer
(D) None of these
AN Asdl el sisn sdl 87
(A)  AalRis v e
(B) {alRis v 2wAEd A aduad - dwdl
(C©)  adad el Al
(D) =2 U4l a8 «dl

12  Where are the harmful elements of caste system?
(A) Plight of women (B) Social disintegration
(C) Loss of democratic values (D) All of these
Al Al siMsRs dwa syl 87
(A) 2l geu (B) wrulys [Que-
(C) disudl el el (D) 1 W4l o4 o

13  The reputation of the personality increase significantly.

(A) Vertical mobility (B) Nothing can be said
(C) Horizontal mobility (D) None of these
Sl wksidi Alawet auRl Y 8.

(A) Gell alaslad (B) 9 sdl usiy Al
(©) 2l aklladl (D) 21 U4l AS «dl

14 With whom are educational objectives related in a democratic nation?

(A) Physical development - (B) Moral development
(C) Mental development (D) All of these
suidl wHi daael Gredldl e AL wd B?

A) wilRs s (B) ks s

(C) wxlas s (D) 1 U4l oL o

15 What is the name of the upper house of the Indian Parliament?

(A) Lok Sabha -(B) Legislative Assembly
(C) Rajya Sabha (D) None of these
eiRdly dued Gog e sl -uadl ovna 87

(A) disas “(B) Ru-ueu

(C) woruew (D) u A4 a8 «dl
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16 Barriers to education of backward classes.
(A) Iliteracy of parents (B) Low enrollment
(C) Ashram school education (D) All of these
utdadiiql Riaedi »adys uWRe.
(A) adlxdl FH@dl (B) Rivuglid uweL vy
(C) 2usanon [as (D) 21 844 ouL

17 What is the meaning of the word 'Phyche'?

(A) Mind (B) Behaviour
(C) Soul (D) All of these
'Phyche' - el 2 g &7

(A) ¥+ (B) ad+

(C) e (D) i U4 ol o

18 What are the terms of signal learning?

(A) Continuity and Repetition (B) Practice and Reainforcement

(C) Stimulus and Response (D) None of these
Add Yyl wdl 5§ 87

(A) RAedddl A YeRlad- (B) 48193 2 Yias
(C) GAus 24 ukR D) A4 a5 «dl

19 Thorndike's name is associated with what?

(A) Trial and error (B) Law of readiness
(C) Law of effect (D) All of these
faidsd - Al WA ANdAG B?

(A) M3l ¥ od (B) deurdidl [Hauy
(C) - Myx (D) i U4 ol o

20 Which animal was Pavlov's experiment?

(A) Cat (B) Dog
(C) Pigeon (D) Rat
yladla-dl uyiod wiell 83 eg?

A) Bmadl (B) &
(€) s8dR (D) Ger
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21 In operant conditioning, Response is reduced by receiving subsistence.

(A) The statement is false '(B) Nothing can be said
(C) The statement is true . (D) None of these

siRs iRRMAUL wlulner ol u_[‘dzuzrﬂ UsAdL 42 8.

(A) R g 8 l (B) 5 sd wsy «dl
(C) Rwd w8 (D) =i U4l AS «dl

22  Education is to remove one habit by another habit.

(A) Skinner ~(B) Pavlov

(C) Gathri {D) None of these

ns 2q4 ofly 2adl g sdl ved [

A) &R (B) uadla

€ bk (D) 20 44 A «dl
23 A situation where a person is aw'ajf from something he needs.

(A) Temptation (B) Deprivation

(C) Habit (D) All of these

Al a+ll 3Rl axgell g2 W d wRRAM-

(A) weleis, (B) dfiddl

(C) @ (D) 21 U4 oL %

24 What is Tolman's Law of Learnirfg?

(A) Law of exercise . (B) Equivalence
(C) Law of stimulus (D) All of these
Aai--l ey Ry sl 87

(A)  yeRrad-sL Fas (B) wqe

(C) GAus [Mun t (D) 20 U4 oui ¥

25 What is the level of educational aitfainment?
(A) Inferior quality
(B) Inferior quality and superior quality
(C) Excellent quality
(D) None of these
wegue, R sa 56 87
(A) sl R
(B) sltre qRiqdl il Geg® dRladl
(C) Gegte uianil
(D) 21 U4 88 «dl
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26 What is the educational diagnostic tool?

(A) Observation (B) Oral Test

(C) Class work (D) All of these
Qalls Feind wan »f 97

(A) waels B) Hlis s
(C) adlsiy (D) W4 oL

27  Where are rubrics used in testing?

(A) Formative (B) Formative and Summative
(C) Summative (D) None of these

sl Gudlal sy @i wy 87

(A) [Rsics (B) [Rsucs A Asalns

(C) Asalcns (D) 2u U4 a8 el

28 What kind of information sources are journals?

(A) Published (B) Nothing can be said
(C) Unpublished (D) None of these
et sal UsiRg MRl wld 87

(A) ustlua (B) 59 sdl wsiy «dl
(C) sl (D) 2 W4 QS «dl

29 What is the main component of the communication process?

(A) Message (B) Medium

(C) Sender of the message (D) All of these
Uedldnt WA yvy ues sy 872

(A) Azl (B) iy

(C) Azl Wsa-R (D) U U4 sl o

30 A body that regulates training (educational) institutions.

(A) UGC (B) NCERT

(C) NCTE (D) None of these
el (Riam) densdd Fasst R -

(A) UGC (B) NCERT

(C) NCTE D) 2 W4 AS ]
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31

32

33

34

35

What is the basic concept of personality theory according to Freud?

(A) Death consciousness (B) Ego

©) id - (D) All of these
At A Al Rgiadl warl wa g 87

(A) Yyl @00 (B) 8™

(C) $3 (D) it ULl oL

An adaptive personality trait.

(A) Positive attitude

(B) Positive attitude and aggression
(C) Aggression

(D) None of these

Aulsfad alsdad aast.

(A) SsRIcis d4s)

(B) 5105 adRlL A 2UsUsdl

(C) UsHsdl

(D) 2u U4l 45 Adl

What is ego defence technique?

(A) Repression (B) Culture

(C) Projection (D) Suppression and Projection
wer oAl uyls 59 87

(A) ¥ (B) usla

(C) uéuwL (D) &4+ ¥l HAUR

PEN Theory - Who gave it?

(A) Gayne (B) Allport
(C) Eysenck " (D) Miller
PEN Theory - S8l »udl sdl?

(A) QA (B) aule
(C) s (D) [Maz

What is the basic purpose of Garliahi's philosophy of education?

(A) Economic self-reliance (B) Social self-reliance
(C) Character building (D) All of these

Ayl Rueeed-dl s 8 sA 87

(A) s Aladsx " B) weulss xuades
(C) AR~ Malal (D) »u A4 ul
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36

37

38

39

40

A teacher according to Swami Vivekananda.

(A) Friend (B)
(C) Pathfinder D)
Al Rdside wd Ras-

(A) Bt (B)
(C) mueds (D)

Friend and guide

None of these

Biol vl yoedls
L U4 A qdl

What is the name of the first chapter of Gita?

(A) Karma Yoga (B)
(C) Vishad Yoga (D)
Mctirtl nud e Uy 3 87?

(A) siQa (B)
(O CLTEENE] (D)

Philosophy and education are, two sides of the same coin.

(A) Ross (B)
(C) Dewey (D)
drasi @ Qg s sl & oy .
(A) A (B)
©) =g D)
What is the path of Knowdeg?

(A) Common sense (B)
(C) Shastra (D)
srtdUlel ol s B2

(A) A 4fg (B)
O wwmt (D)
Which psychologist gave field theory?

(A) Tolman (B)
(C) Hull (D)
&2 [igld sai a-NdaufMy wuwil?

(A) Aadq (B)
(C) s (D)

BPK-21013_A] 9

Sankhya Yoga

None of these

A9
wt 44 QS Adl

Aristotle

None of these

AReleq
21 U4 A Al

Guru
All of these

A
A U4 oL o

Kurt Lewin

None of these

se alan
L Y4 A ]
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41 Who said that the home should enter the school and the school should
enter the home?

(A) Gandhiji (B) Vinobaji

(C) Nehru (D) None of these
woudi 82 3Aud ASA A =i wan ndudl ASA A A9 sai?
A) e B) R-u

(C) +e3 (D) 2 Ul a8 -dl

42 National Higher Education Campaign is associated with whom?

(A) Admission (B) Admission and Quality
(C) Quality (D) None of these

A GdR Rian wRan A A el 4l 87

(A) wda (B) udu A 9zadl

(C) 3Biaxl (D) 21 U4l AS dl

43 What is pedagogy of teaching?

(A) Philosophy (B) Psychology
(C) Science (D) All of these
wAAWBL A U] Y D7

(A) dvasud (B) #lasu-

(C) R (D) = U4 oL ¥

44 What is the degree course of Pre Service Teacher Education?
Pre Service Teacher Educationwd Rafl sieuri s\ 87
(A) D.ELEd. ~(B) B.Ed
(C) B.ELEd. (D) B.ELEd. & B.Ed.

45 Organization associated with programs of In Service Teacher Education.

(A) NCTE (B) NGO

(©) WHO (D) All of these
In Service Teacher Education-it sidsil w1 Asouda Al
(A) NCTE (B) NGO

(C) WHO (D) = U4l naL ¥
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46  What are the limits of democratic supervision?

(A) Slow pace (B) Personal guidance

(C) Skilled teachers (D) All of these

disudl Fam 5§ wuler 87

(A) Al H (B) eulsaoid wledq

(€©) sun as (D) 21 U4 o o
47 Who gave the concept of self continuity?

(A) Miller (B) Maslow

(C) Rogers (D) None of these

A Aldeil vld S8 wii)?

A) Ber (B) 3zl

(C) A=l (D) 20 U4 QS «dl

48 A symptom of acute psychosis.
(A) Loss of thinking power -
(B) In the world of imagination
(C) A person can not control himself
(D) All of these
dlat ®lfaglaqd asa.
A) [Raruls pad
B) sewu-l gRanii
(©) <alsa Wil oA ool usdl el
(D) i U4 qu

49  What terminology did Piaget use to explain his theory of cognitive

development?

(A) Schema (B) Schema and sensory

(C) Sensory (D) None of these

Rrugal sitiens Risi Rigia anonaar sai wReufs 9ol Gualsl s4l edl?
A) RBw B) B 27 Adeuns

(C) Ade-ucus (D) = 44 A «dl

50 What is the legislative effect of urbanization?
(A) Tuition
(B) More number of students in the classroom
(C) High employment opportunity
(D) All of these
wddlsredll Qs 2z 5§ Q7
(A) g+
(B) adlvisui Raudl v ay
(©) Awdud-l das ay
(D) 1 U4 o o
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